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All the questions may be attel

= 1.« There are 397 pages | in a cer(;am book How many pages:
will there be in two eight'} d and ty-five copies
of this book ? (10 marks)

2. Find the cost of 3 tons 12 ewts. 3 qrs. at £3 15s. 0d. a ton.
(12 marks)

3. What is left out of 140 ga]lons of milk after filling 17 cans
each holding 7 gallons 2 qua,rts 1 pint #
A % ( 12 marks) #

4. 73 tons of coal cost £121 19s. 5d. If it was %dd in one
cwt. bags at 2s. 7d@h at was gamed on each ton
{14 marks) §

5. A merchant had a coil of wire, one mile in length. He
sold § of it to one man and } to another. What length in yards, ‘
feet and inches had he left ¢ ~

(16 marks)

6. A man went to market with £14 13s. 6d. in his pocket.

He sold six cows at £17 15s, 0d. each and after receiving payment

for them he found that he had just enough money altogether to
buy 37 sheep. What was the average price of the sheep ?

{16 marks) r




